BxA=...|3x1=... |9x1=... |8xl=...
AxT=...|2X7T=... | Bx7T=... |3x7=...
3xb=...|2x6=... | bxb=... |4x06=...
OX3=...|6x3=... |9x3=... |4x3=...
4Ax7=...4x9=... |[4x10=... |4x4=...
. RESULTAT:
el
4dx=... |2x8=... | bxl=... |3x1=...
3x7=...12x3=... | 10x3=... | 2x5=...
2X0=... |2%x4=... | 2x11=... | 2x9=...
oX3=... |Ax3=... | 5x4=... |2x12=...
4x9=... | DX7=... | 4x8=... | 11x3=...
. __RESULTAT:
. "__“-@j.--:@'. '®:~.‘ . -
2x9=... |9x1=... |5x1=... |8xl=...
SXT7=... |Ox7=... |2xb=... |2x06=...
4x6=... | 10x4=... |8xb=... |4x0b=...
OX3=...|5x2=... |5x9=... |9x3=...
2X7=...|3x7=... |4x10=... | 5x8=...
. RESULTAT:

~ RESULTAT:

2X4=... |2xb=... | Ox1=... |9x1=...
2X2=... | 2x8=... | 2x10=... | 2x9=...
OX3=... |3X7=...|2%x4=... |2X7=...
5x9=... |3x3=... | 6x5=... |4x3=...
4x4=... |9x5=... |3x8=... |4x0b=...
~_RESULTAT:
RO ® T
2x1=... | Ox1=...| 2x0=...] 2x9=...
X7=...|3X7=...| 2X3=...|3x7=...
2XT7T=...|2X9=...| 2X7=...| 4xb=...
aAx3=...| 6x3=...| Sxl=...| 5xA=...
10x2=... | 4X2=...| 4x3=...|4%x5=...
. RESULTAT:
Ox1=...| 2X0=...|5x3=...|2x4=...
I 2x10=...| 2x3=...|2x8=...|3x0b=...
| 2XA=... | 2%x4=...|2X7=...|3xX7=...
7X3=...|5x10=... | 6x3=... | 5x3=...
4x8=...| 4x3=...|4xA9=...|4x7=...




2X00=... | 10x1=... | Ax1=... | 4x1=...
2X9=...| 3x7=...|2xb=...|2x9=...
OX0=...| 2X7=...|2X7=...|5xb=...
S5x7=...| ©6%X3=...|5x9=... | 5x6=...
4x8=...| 4x2=...14x3=...|5xd=...
Axl=...|2%x4=...| 2xb=...|2xb=...
2X0=... | 2x1=...| 2X3=...|2X7=...
3x6=...|2x0=... | 2x11=...|2%x5=...
5x5=... | 5x8=... | 5x6=... |5x4=...
4dxd=... |4x3=...| 4X9=...|3x7=...




